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Abstract

Cumulative TGk conference call Minutes for November 2004r through January 2005.
Detailed minutes follow:

Wednesday, November 24, 2004 – 8:30 AM Pacific
1. Chair calls the conference call to order at 8:30 AM

2. Attendance Paine, Gray, Kwak

3. Editorial Comment Resolution  11-0964r26

4. Comments

Comment #6 – Clause 10.3.11 - Johnson
Problem - P38, L13 Replace "management protocol model" with "protocol layer model"
Remedy - Specify P38, L13 Replace "management protocol model" with "protocol layer model"

Resolution – Accept – instruct editor to make change as described above.

Comment #7 – Clause 10.3.11 – Johnson

Problem - P39, L1 Replace "diagrams" with "figures"
Remedy - P39, L1 Replace "diagrams" with "figures"

Resolution – decline

Comment #9 – Clause 10.3.12.1.2 – Johnson

Problem - If the Measurement Category is only present if dot11Radio MeasurementEnabled is true does SPECTRUM MANAGEMENT need to be an enumeration type since by default if not RADIO MEASUREMENT it must be SPECTRUM MANAGEMENT.
Remedy - Delete SPECTRUM MANAGEMENT enumeration type.
Comment – It is abstract, but you need to know

Resolution – decline

Comment #10 – Clause 10.3.12.3.2 - Johnson
Problem - If the Measurement Category is only present if dot11Radio MeasurementEnabled is true does SPECTRUM MANAGEMENT need to be an enumeration type since by default if not RADIO MEASUREMENT it must be SPECTRUM MANAGEMENT.
Remedy - Delete SPECTRUM MANAGEMENT enumeration type.

Resolution - decline

Comment #11 – Clause 10.3.14.1.2 – Johnson

Problem - If the Measurement Category is only present if dot11Radio MeasurementEnabled is true does SPECTRUM MANAGEMENT need to be an enumeration type since by default if not RADIO MEASUREMENT it must be SPECTRUM MANAGEMENT.
Remedy - Delete SPECTRUM MANAGEMENT enumeration type.

Resolution – decline – see Comment #9

Comment #12 – Clause 10.3.14.3.2 – Johnson

Problem - If the Measurement Category is only present if dot11Radio MeasurementEnabled is true does SPECTRUM MANAGEMENT need to be an enumeration type since by default if not RADIO MEASUREMENT it must be SPECTRUM MANAGEMENT.
Remedy - Delete SPECTRUM MANAGEMENT enumeration type.

Resolution – decline – see Comment #9

Comment #14 – 10.3.16.1.2 - Cole

Problem - The font for tables in this sub-clause and those subsequent don't match the prior sub-clause tables.
Remedy - Please change to match
Resolution – accept – instruct editor to make change as described above.

Comment #16 – Clause 10.3.16.1.2 - Johnson
Problem - If the Measurement Category is only present if dot11Radio MeasurementEnabled is true does SPECTRUM MANAGEMENT need to be an enumeration type since by default if not RADIO MEASUREMENT it must be SPECTRUM MANAGEMENT.
Remedy - Delete SPECTRUM MANAGEMENT enumeration type.

Resolution – decline

Comment #17 – Clause 10.3.16.2.2 – Cole

Problem - Indentation inconsistency in the TPC element of the table.
Remedy - Please change to match.

Resolution – accept – instruct editor to make change as described above.

Comment #18 – Clause 10.3.16.2.2 - Johnson
Problem - If the Measurement Category is only present if dot11Radio MeasurementEnabled is true does SPECTRUM MANAGEMENT need to be an enumeration type since by default if not RADIO MEASUREMENT it must be SPECTRUM MANAGEMENT.
Remedy - Delete SPECTRUM MANAGEMENT enumeration type.

Resolution – decline – See Comment #9

Comment #20 – Clause 10.3.16.2.2 – Zuniga
Problem - Pg 43, table - Description of TPC Report Element has extra indentation

Remedy - Remove indentation to be consistent with the presentation format in other rows

Resolution – accept – See comment #17

Comment #23 – 10.3.2.2 – Ecclesine

Problem – p38 lin2 editing instructions

Remedy - add "and renumber accordingly" to the editing instructions as a new table is added
Resolution – decline – MLME primitive tables do not have table numbers in the base standard.

Comment #29 – Clause 11.1.3 – Johnson

Problem – P44, L4 Remove extra space between "set" and "to"

Remedy - P44, L4 Remove extra space between "set" and "to"
Comment – we removed this text in 1095 document

Resolution – accept – text was removed by document 1095

Comment #30 – Clause 11.1.3 – Johnson

Problem – P44, L9 Delete "that element of" since adds no meaning

Remedy – P44, L9 Delete "that element of"

Resolution – accept – text was removed by document 1095

Comment #32 – Clause 11.1.3 – Kwak 

Problem - P44L3: Missing space in RCPIMeasurement.
Remedy – none

Resolution – decline – this is the official name of the field

Comment #36 – Clause 11.3.2.21.4-11.3.2.21.10 – Johnson

Problem - P11, L7 - Should indicate how randomization interval is used for all delimited clauses.
Remedy - Resolution - Simply add "See 11.7.3." after sentence describing the Randomization Interval much like Measurement Duration or use the sentence from P19, L6 in all other clauses.
Resolution – decline - 

Comment #38 – Clause 11.5 – Thrasher

Problem - First sentence in second paragraph (line 39, 40).. Need to remove the reference of "future regulatory requirements in Europe" I'd assume the TPC procedures could be used to satisfy future regulatory requirements in other places besides Europe…:)
Remedy - should read ….This clause describes TPC procedures that may be used to satisfy this particular European regulatory requirement.  The procedures may also satisfy comparable needs …..
Comment – This is changing text form 11h.

Resolution – defer – address at the ad-hoc meeting or in SA (TPC issues)

Comment #39 – Clause 11.5 – Ecclesin

Problem - As only one sentence is being modified, only one sentence needs to be present.
Remedy - Remove the other sentences from what of 11.5 is present
Comment – Change the 3rd paragraph

Comment – P45 there is additional text in 11h. 

Resolution – defer – need to review the document closer to ensure there are no other changes to 11h (TPC)

Comment #42 – Clause 11.5 – Johnson

Problem - P45, L37 Delete blank line
Remedy - P45, L37 Delete blank line
Problem – accept – instruct editor to make change described above.

Comment #43 – Clause 11.5.2 – Wright

Problem - Line 41, "Beaon" -> "Beacon"
Remedy - Correct spelling
Resolution – accept – instruct editor to make change described above.

Comment #44 – Clause 11.5.2 – Audeh

Problem - Line 41 - beacon is misspelled as beaon
Remedy - Put correct spelling
Resolution – accept – see comment #43

Comment #45 – Clause 11.5.2 – Johnson

Problem - P45, L42 Delete blank line
Remedy - P45, L42 Delete blank line
Resolution – accept – instruct editor to make change described above.

Comment #46 – Clause 11.5.2 - Johnson

Problem – P45, L40 Delete "resource" to make consistent with TGk draft

Remedy – P45, L40 Delete "resource"

Resolution – accept – instruct editor to make change as described above

Comment #47 – Clause 11.5.2 – Johnson

Problem - P45, L40 Change "Where" to "When"
Remedy – P45, L40 Change "Where" to "When"

Resolution – accept – instruct editor to make change as described above

Comment #48 – Clause 11.5.2 – Zuniga

Problem - pg 45 line 41 - misspelling "Beaon"
Remedy - change to "Beacon"
Resolution – accept – see Comment #44

Comment #50 – Clause 11.7 – Johnson

Problem – P45, L45 Change 11.7 - should be replaced with either a TBD or at least 11.11 since TGe define 11.1, 11.2, 11.4, 11.5, 11.6, 11.7, TGh define 11.5, 11.6, and TGi define 11.3, 11.4. So there is much confusion here. Ask base standard editor

Remedy - Update appropriately.
Comment – all of these standards have been adopted where should 11k standard.  

Comment – The rollups are not the official standards – the “base” is the standard

Resolution – defer – Simon can work this out with Terry Cole

Comment #61 – Clause 11.7.3 – Edney

Problem - Last line: insert the word "pseudo" in front of "random number". The problem described does not occur with truly random numbers
Remedy - See comment
Resolution – accept – instruct editor to make change described above

Comment #67 – Clause 11.7.4 – Kwak

Problem – P46L32: delete "not" at end of line.

Remedy – none

Resolution – accept - instruct editor to make change described above

Comment #69 – Clause 11.7.4 – Olson

Problem - Page 46 line 33 Extra "not" in sentence.
Remedy - Remove.

Resolution – accept – See Comment #67

Comment #79 – Clause 11.7.5 – Johnson

Problem - P46, L37 Replace "Measurement-capable" with "Measurement enabled" for draft consistency.
Remedy - P46, L37 Replace "Measurement-capable" with "Measurement enabled"

Resolution – accept - instruct editor to make change described above

Comment #81 – Clause 11.7.6 – Lefkowitz

Problem – Be explicit about who is sending the request in infrastructure.  If STA's can not send requests to each other in infrastructure then stat that the AP sends a request to the STA in infrastructure and that STA's can send requests to each other in Ad-Hoc.  If there can not be two AP's in infrastructure mode then the wording in the beginning of the clause is not clear about a STA sending to other STA's since the table states that a STA can send a request to an AP.

Remedy – Clarify.
Comment – This should be a technical comment

Comment – Table k13 addresses this issue. (… source and destination …)
Resolution – defer – get clarification from Marty 
Comment #87 – Clause 11.7.6 – Thrasher

Problem – line 2,3 of page 48…"shall be returned without undue delay" and the definition of undue delay is…….

Remedy – should read "should be returned without undue delay"
Comment – This is technical because you changing a “shall” to “may”
Resolution – reclassify to technical

Comment #88 – Clause 11.7.6 – Thrasher

Problem - line 2,3 of page 48…"shall be returned without undue delay" and the definition of undue delay is…….
Remedy - should read "should be returned without undue delay"

Resolution – accept - instruct editor to make change described above

Comment #91 – Clause 11.7.6 – Wright

Problem - pg 48, line 22 - Need to look up the definition of "solicited" and "autonomous" meas. Reports
Remedy – none

Resolution – defer - change this to a technical comment.  We need a complete or withdraw comment

Comment #97 – Clause 11.7.6 – Kandala
Problem - Please format table k13 in a more presentable from (eliminate redundant rows/columns - use merge/straddle feature of the word processing tool)
Remedy – As suggested.

Resolution – accept – see resolution on Comment #99

Comment #99 – Clause 11.7.6 - Johnson

Problem - Table k13 - Change table so it is clearer that the Infrastructure BSS applies to the 1st three line of the table. Combine 3 cells into a single cell for Service Set column indicating Infrastructure BSS.

Remedy - See comment.

Resolution – accept - instruct editor to make change described above

Comment #100 – Clause 11.7.6

Problem - P48, L4 Shouldn't this be plural -  "element is" should be "elements are"
Remedy - P48, L4 Shouldn't this be plural -  "element is" should be "elements are"
Resolution – decline – sentence is correct

Comment #105 – Clause 11.7.6 – Levy

Problem - In Table k13 - it is unclear due to the lines in the table that the first three lines all are Infrastructure BSS, Service Set.
Remedy - Correct the lines in the table so that there are no lines between the cells in the Service Set column for the first three cells.

Resolution – accept – see Comment #99

Comment #788 – Clause 7.4.2

Problem - Value '6' is missing in Table k12

Remedy - add missing value '6'

Resolution – accept – instruct editor to make change as described above.
Comment #789 – Clause 7.4.2 - Ecclesine

Problem - Editing instructions add new subsections after 7.4.1

Remedy - add "and renumber accordingly" to the editing instructions as new figures and tables are added

Resolution – accept – See comment #228

Comment #790 – Clause 7.4.2 – Audeh
Problem - Table k12 is missing a value for 6.
Remedy - Define value for action value field = 6.

Resolution – accept - #788

Comment #791 – Clause 7.4.2 – Johnson

Problem - Clause 7.4.2 should be minimally 7.4.5 since clause 7.4.2, 7.4.3, 7.4.4 have been used by TGe. So TGk value should reference subclause 7.4.5 not 7.4.2
Remedy - Change subclause of Radio Measurement action frame to 7.4.5 from 7.4.2.

Resolution – accept - Same #789

Comment #792 – Clause 7.4.2 – Johnson

Problem - Change the category field definition to reference the clause in which Table 19a is. Replace the existing Category field definition with the Category field definition from 7.4.2.3.
Remedy - Change the category field definition to reference the clause in which Table 19a is. Replace the existing Category field definition with the Category field definition from 7.4.2.3.

Resolution – accept – change to reference table in k24

Comment #793 – Clause 7.4.2.1-7.4.2.6 – Johnson

Problem - Reorder subclauses so they are in the same order as Table k12. Basically move TPC Request/Report before Neighbor
Remedy - none
Resolution – accept – see comment #788

Comment #797 - Clause 7.4.2.3 - Ecclesine
Problem - p36 line 8 "shall be shall be one octets"
Remedy - change to "each shall be one octet"

Resolution – accept – instruct editor to make change as described above.
Comment #798 – Clause 7.4.2.3 – Black

Problem - P36, l8 octets should be octet
Remedy - Correct editorial.

Resolution – accept - see as #797

Comment #802 – Clause 7.4.2.3 – Johnson

Problem - P36, L4 - Incorrect reference. Change "Table 20f" to "Table k12"
Remedy - P36, L4 - Incorrect reference. Change "Table 20f" to "Table k12"

Resolution – accept – instruct editor to make change as described above.
Comment #803 – Clause 7.4.2.3 – Johnson

Problem - P36, L7 - Change "report" to "request"
Remedy - P36, L7 - Change "report" to "request"

Resolution – Decline – the sentence is correct
Comment #804 – Clause 7.4.2.3 – Johnson

Problem - P36, L8 - "octets" should be singular "octet"
Remedy - P36, L8 - "octets" should be singular "octet"
Resolution – accept – see comment #797

Comment #807 – Clause 7.4.2.3 – Kwak

Problem - P36L8: one octets change to one octet.
Remedy – none

Resolution – accept – see comment #797

Comment #815 – Clause 7.4.2.4 – Black

Problem - p37, l2 incorrect reference - should be k12 in 7.4.2.
Remedy - Correct reference

Resolution – accept – instruct editor to make change as described above
Comment #816 – Clause 7.4.2.4 – Black

Problem - p37, l8 use shall in place of will
Remedy - Correct
Resolution – accept – instruct the editor to make change as described above.
Comment #818 – Clause 7.4.2.4 – Johnson

Problem - P36, L4 - Incorrect reference. Change "Table 5 in 7.4.1" to "Table k12 in 7.4.2"
Remedy - P36, L4 - Incorrect reference. Change "Table 5 in 7.4.1" to "Table k12 in 7.4.2"

Resolution – accept with amendment to clause 7.4.2.3

Comment #819 – Clause 7.4.2.4 - Johnson

Problem - P37, L6 - Incorrect reference. Change "7.3.2.22" to "7.3.2.26"
Remedy - P37, L6 - Incorrect reference. Change "7.3.2.22" to "7.3.2.26"

Resolution – accept – instruct editor to make change as described above.
Comment #823 – Clause 7.4.2.5 – Johnson

Problem - P37, L14 - Incorrect Reference. Change "Table 1 in 7.3.11" to Table 19a in 7.3.1.11"
Remedy - P37, L14 - Incorrect Reference. Change "Table 1 in 7.3.11" to Table 19a in 7.3.1.11"

Resolution – accept – Table 19a is an 11h table number

Comment #824 – Clause 7.4.2.5 – Johnson

Problem - Get rid of bullet by replacing the text in the clause with the following "The TPC Request frame format for radio measurement shall be as described in 7.4.1.3 with one exception. The Category field shall be set equal to the value indicating the Radio Measurement Category, as specified in Table 19a in 7.3.1.11."
Remedy - Get rid of bullet by replacing the text in the clause with the following "The TPC Request frame format for radio measurement shall be as described in 7.4.1.3 with one exception. The Category field shall be set equal to the value indicating the Radio Measurement Category, as specified in Table 19a in 7.3.1.11."

Resolution – accept – instruct editor to make change as described above.
Comment #827 – Clause 7.4.2.6 – Johnson

Problem - P37, L19 - Incorrect Reference. Change "Table 1 in 7.3.11" to Table 19a in 7.3.1.11"
Remedy - P37, L19 - Incorrect Reference. Change "Table 1 in 7.3.11" to Table 19a in 7.3.1.11"

Resolution – accept – instruct editor to make change as described above
Comment #828 – Clause 7.4.2.6 – Johnson

Problem - Get rid of bullet by replacing the text in the clause with the following "The TPC Report frame format for radio measurement shall be as described in 7.4.1.3 with one exception. The Category field shall be set equal to the value indicating the Radio Measurement Category, as specified in Table 19a in 7.3.1.11."
Remedy - Get rid of bullet by replacing the text in the clause with the following "The TPC Report frame format for radio measurement shall be as described in 7.4.1.3 with one exception. The Category field shall be set equal to the value indicating the Radio Measurement Category, as specified in Table 19a in 7.3.1.11."

Resolution - accept – instruct the editor to make change as described above.
Comment #833 – Clause A.4.1.3 – Faccin

Problem - What happened to RRM19-22? The table jumps from RRM18 to RRM23?
Remedy - Correct numbering

Accept – Change RRM23 to RRM19

Comment #845 – Clause A.4.1.3 – Black

Problem - What happened to RRM19-22? The table jumps from RRM18 to RRM23?
Remedy - Correct numbering

Accept – see Comment #833

Comment #852 – Clause Annex A – Johnson

Problem - Annex D is labeled Annex D. Shouldn't Annex A be listed as Annex A. P64, L1
Remedy - Delete "Annex A - PICS" and replace with "Annex A"
Resolution – accept – instruct editor to make change as described above.
Comment #854 – Clause Annex A – Johnson

Problem - Change "Radio Resource Measuremetn" to "Radio Measurement" in Annex A. Located in two locations *CF10 and RRM1
Remedy - Change "Radio Resource Measuremetn" to "Radio Measurement" in Annex A
Resolution – Accept – instruct editor to make as described above.
Comment #879 – Clause Annex D – Malinen

Problem - Complex description of what is included in dot11BeaconRprtReceivedElements.
Remedy - Change "All fields, except Timestamp, Beacon interval and Capability Information" with "All information elements". Similar change was already done in text portion of beacon report.

Defer – Paul Gray will reconcile with draft

Comment #905 – Clause 7.2.3.4 – He

Problem - Line13 uses "order 5", but line14 uses "order 6". Is the intent to change the order number also or just modify "order 5"?
Remedy - none
Resolution - Accept – Change order 5 to order 6

Comment #906 – Clause 7.2.3.6 – He

Problem - similar comment as in clause 7.2.3.4
Remedy - none
Accept – Change order 6 to order 7

Comment #908 – Clause 7.3.2.21 – He

Problem – none

Remedy - Delete "4" under the "Reserved" field.
Resolution – Accept – instruct editor to make change as described above.
Comment #913 – Clause 7.4.2.3 – He

Problem – none

Remedy - Delete one "shall be".

Resolution – Accept – instruct the editor to make change as described above.
Comment #915 – Clause Annex D – Cole

Problem - In the first 4 sections of the MIB changes, the changes are shown without context.
Remedy - Please consider showing the smallest but whole changed item with underscores. This is clearer.
Resolution - Accept – done in 1073r1

Comment #917 – Clause Annex D – Cole

Problem - in Dot11OperationEntry sequence list, the changes are shown without context.
Remedy - Please consider showing the smallest but whole changed item with underscores. This is clearer.
Resolution - accept – done in 1073r1

Comment #918 – Clause General – Lefkowitz

Problem - Change the wording the document to say Sender of a request and receiver of a report.
Remedy – see comment
Decline – cannot determine commenter intent

Comment #924 – Clause General – Kim

Problem - Line 28: Please use my full name
Remedy - Change "J" Kim to Byoung-Jo "J" Kim
Resolution - accept – instruct editor to make change as described above.
Comment #927 – Clause General – Black

Problem - Need to be consistent with bit field diagrams - compare figure k5 and k19.
Remedy - Make consistent.

Resolution - accept – make consistent with K19 format.
Comment #935 – Clause General – Pratik

Problem - Need to clarify that received power is measured at the current receiving antenna connector.
Remedy - Change "as seen at the antenna connector" to "as seen at the current receiving antenna connector."

Resolution - accept – make consistent even if the Reaff is not

Comment #938 – Clause General – Johnson

Problem - Update clause 7.3.2.25 to 7.3.2.26 and 7.3.2.26 to 7.3.2.27 since TGi adopted clause 7.3.2.25.
Remedy - fix as indicated.

Resolution - accept – change clause numbering and all reference clauses.

Comment #939 – Clause General – Johnson

Problem - Shouldn't Measurement Report actually be Measurement Response and TPC Report be TPC Response to be consistent with base standard since it has IEEE802.11 has Probe Request/Response, Association Request/Response, etc. Also TGe has added their action frame as Request/Response.
Remedy - Determine if an overall change is needed by TGk. Most likely the TGm group would be best since is carryover from TGh.

Resolution - accept – editor will verify with 802.11 editor if change is needed

Comment #953 – Clause General – Kwak

Problem - Radio Resource Measurement is not as clear as Radio Measurement which is used throughout the draft.
Remedy - Replace "Radio Resource Measurement” with "Radio Measurement" in all places, including title (?) of ammendment.
Resolution – Withdrawn – by submitter
Comment #954 – Clause General – Kwak

Problem - Node is not defined in baseline spec. node==STA.
Remedy - Replace "Hidden Node" with "Hidden Station" in all places throughout document
Resolution – Accept – instruct the editor to make change as described above.
Comment #959 – Clause General – Johnson

Problem - Update P28, L4 with proper clause numbers. Tgi added clause 7.3.2.25.
Remedy - Change 1st sentence to "Insert the following new clauses (7.3.2.26 and 7.3.2.27) after clause 7.3.2.25, adjusting the subsection numbers, figure numbers, and table numbers as needed."
Resolution – Accept – instruct editor to make change as described above.
Comment #962 – Clause Table 11 – Zuniga

Problem - pg 5, table - second line in the notes section is broken
Remedy – remove “line return”
Resolution – Accept – instruct editor to make change as described above.
Comment #964 – Clause Table 20a – Lefkowitz

Problem - see previous comment for 7.3.2.21
Remedy - change "transmitting STA" to "requestor"

Resolution - Decline – Table from TGh

Comment #965 – Clause Table 20a – Durand

Problem - the term "transmitting station" is not consistent with text please use requestor or requesting STA
Remedy - none
Resolution - Decline – Table from TGh

Comment #974 – Clause 5.4.5 – Myles

Problem - "Providing interface ..." should be "Providing interfaces …" or "Providing an interface …"
Remedy - Make one of identified changes

Resolution - accept – “providing interfaces …”
Comment #975 – Clause 5.5 - Myles

Problem - "Radio Resource Action" in c) 2) ii) and "Radio Resource Management Action" in a) 2) vii) should probably both be "Radio Management Action"
Remedy – Make identified change
Resolution - Partially Accept – make c) ii) “Radio Measurement Action” also change P3L23

Comment #976 – Clause 5.5 – Myles

Problem - The text says that Class 1 frames include Radio Measurement Actions "containing measurement request and report messages sent between two stations in an IBSS" The quoted text can be simplified to "sent between stations in an IBSS" because:* All Radio Me
Remedy - Simplify text as indicated
Resolution - Accept – instruct editor to make change as described above.
Comment #978 – Clause 7.2.3.8 – Myles

Problem - There is an extra carriage return in Table 11
Remedy - Fix
Resolution - Accept – see comment # 962

Comment #979 – Clause 7.2.3.1 – Myles

Problem - The language in the notes for an AP Channel Report could be improved:
        * One sentence is sufficient 
        * "only" is unnecessary 
       A similar comment applies to 7.2.3.9

Resolution – accept – instruct editor to make change as described above.
Comment #980 – Clause General – Myles

Problem - The text seems to use "Radio Resource Measurement" and "Radio Measurement" interchangeably
Remedy - Choose one form and stick to it

Resolution - Partially accept – commenter needs to provide explicit references.
5. Conference call ends 10:15 AM.

Wednesday, December 1, 2004 – 8:30 AM Pacific
1. Chair calls the conference call to order at 8:30 AM

2. Attendance Paine, Klein, Gray, Kwak, Black

3. Editorial Comment Resolution  11-0964r25

4. Comment Resolution

Comment #981 – Clause 7.2.3.9 - Myles
Problem - In the notes for "RCPI" it is stated that the element "shall only" be present under specified circumstances. "Only" is unnecessary
Remedy Remove "only"

Resolution – Accept – instruct editor to make change as described above.

Comment #990 – Clause 7.3.2.21.4 – Myles

Problem - The text specifies the semantics of the in this clause as well as 7.3.2.21 This duplication is unnecessary
Remedy - Remove duplication - This comment applies to other measurement requests as well

Resolution – decline – problem not clear what commenter is asking

Comment #992 – Clause 11.7.8.1 - Myles
Problem - The text states, "… shall ignore specified channel in the Beacon request …" This is grammatically incorrect

Remedy - Change text to, "… shall ignore the channel specified in the Beacon request …"

Resolution – accept - 

Comment #995 – Clause 7.3.2.21.6 – Myles

Problem There is a ".." that should be "." P14L11

Remedy – Fix 
Resolution – accept – we have already addressed in prior comment.

Comment #1003 – 7.3.2.19 - Myles

Problem – This clause defines a number of  "bin" parameters. The semantics of these parameters are impossible to deduce without reading ahead.

Remedy - Insert a reference to clauses that define the bin concept
Comment – wrong reference 7.3.2.21.19 (P18L10)

New Remedy – add new paragraph P18 L10: “The use of “bin” for Medium Sensing Time Histogram report is described in 7.3.2.22.9.”
Resolution – accept – instruct editor to make change as describe in New Remedy above.

Comment #1007 – Clause 7.3.2.22.6 – Myles

Problem - The text goes to a lot of trouble to define various fields in the report from the Beacon.  However, it appears the all the fields from the Target TSF onwards are simply a copy of the Beacon body (with the one exception being that the TIM element is trunca ...

Remedy – Rather than defining fields separately, just say the Beacon body is included.
Resolution – decline – the detail is useful for the 11k draft for people to understand the beacon report.

Comment #1011 – Clause 7.3.2.22.9 – Myles

Problem – The last paragraph of this clause contains a specification of when a Frame Request is invalid - This specification belongs in 7.3.21.9, not here

Remedy – Move identified specification to 7.3.21.9
New Remedy – Delete P27L11,12 and insert these them in new paragraph following P18L13.  Insert additional text after new paragraph: “where isub0 = bin offset, deltaic = bin duration, N = number of bins”, formatted as on P26L26.

Resolution – accept – instruct editor to make change as described in New Remedy above.

Comment #1012 – Clause 7.3.2.22.9 – Myles

Problem - Text includes, "0 = i < N" The text appears to be missing "<"
Remedy - Change text to, "0 <= i < N"
New Remedy – Change P27L2; Change text from “0 = i < N” to "0 <= i < N"
Resolution – accept – instruct editor to make change as described in New Remedy above.

Comment #1018 – Clause 7.3.2.26 – Myles

Problem - "are reachable" should be "is reachable"
Remedy – Fix
Comment – P31L1

Resolution – accept – instruct editor to make change as described above.

Comment #1019 – Clause 7.3.2.26 – Myles

Problem - In the dot point list, "Bit 3" is used rather than "Key Scope", which is the name of the bit
Remedy – Fix
New Remedy – Change “Bit 3” to “the Key Scope Bit”
Resolution – accept – instruct editor to make change as described in New Remedy above.
Comment #1021 – Clause 7.3.2.6 – Myles

Problem - The text states that the Capabilities Subfield  "have the same meaning and be set equal to the equivalent bits within the Capability Information field being sent by the AP being reported."  The text is no clear in what context the Capability Information f
Comment – truncated comment

Remedy – Clarify

Comment – P31L15 (Section Number is incorrect 7.3.2.26)

New Remedy – Modify P31L16: “Sent in the beacons by the AP being reported.”.

Resolution – accept – instruct editor to make change as described in New Remedy above.

Comment #1022 – Clause 7.3.2.6 – Myles

Problem - The text states that the Capabilities Subfield  "have the same meaning and be set equal to the equivalent bits within the Capability Information field being sent by the AP being reported." However , the text the goes non to redefine the Capabilities sub-
Comment – truncated comment

Remedy - Delete Figure k20 and reference the appropriate clause that defines the Capability Subfield
Resolution – decline – This is by design, because it only contains selected bits.

Comment #1028 – Clause 7.4.2.1 – Myles

Problem - The text states, "The format of the frame shall be as defined in …" This expression: * is too wordy * inconsistent with language used in 802.11h for similar sections * inconsistent with language used in 7.4.2.3 and 7.4.2.4
Remedy - Change text to, "The  format of the frame is shown in …" A similar comment applies to 7.4.2.2
Resolution – accept – instruct the editor to make change as described above.

Comment #1029 – Clause 7.4.2 – Myles

Problem - The order of the action field values in Table k13 is different from the descriptions in 7.4.2.1-6
Remedy - Make the orders consistent
Resolution – accept – instruct editor to make change as described above.

Comment #1030 – Clause 7.4.2.1 – Myles

Problem - The language style of the text describing the Category field, Action field and Dialog Token field is inconsistent with the language style used in 802.11h
Remedy - Make the language style consistent A similar comment applies to 7.4.2.2, 7.4.2.3, 7.4.2.4. 7.4.2.5 and 7.4.2.6
New Remedy - 

Resolution – partially accept – assign to Simon Barber to find proper use of “Shall”

Comment #1031 – Clause 7.4.2.3 – Myles

Problem - "one octets" should be "one octet"
Remedy - Fix
Resolution – accept – duplicate comment already corrected.

Comment #1032 – Clause 7.4.2.3 – Myles

Problem – The text contains a list with a single dot point However, a list should always contain more than one dot point
Remedy – Integrate the dot point into a normal paragraph A similar comment applies to 7.4.2.5 and 7.4.2.6.

New Remedy – Change P36L12 Change “Bit” 0 to “Neighbour TBTT Offset Type” add another dot point with bits 1-7.

Resolution – instruct editor to make change as described in New Remedy above.
Comment #1038 – Clause 11.5 – Myles

Problem - There is no need to include the whole of 11.5 when a change is being made to only a single paragraph
Remedy - Only include those paragraphs that are to be changed
Resolution – open – assigned to Simon Black

Comment #1039 – Clause 11.7.6 – Myles

Problem - In Table k13, my printout has lines between rows 2-3 in column 1
Remedy - Remove lines
Resolution – accept – duplicate comment already corrected.

Comment #1040 – Clause 11.7.6 – Myles

Problem - Table k13 uses "Unicast", "multicast" and "broadcast" However, 802.11h uses "individual" and "group", as the result of letter ballot comments
Remedy - Change language to be consistent with 802.11h
New Remedy – Change table k13 column 4 title to “Destination Address of Measurement Frame”

Resolution – accept – instruct editor to make change as describe in New Remedy above.

Comment #1048 – general – Bray

Problem - Editorial comment: My understanding was that drafts were meant to be made with respect to official editions. It is very difficult to review this draft as it I do not have a version with the various amendments listed. Reviewing change notes when you don't have the document being changed is nigh on impossible!
Remedy - Proposed solution: Either base the draft on an official standard, or provide the version of the standard which is being amended on the same web page as the draft. (I realise this is more to do with general administration than the text of the draft however it is at least in part the responsibility of the group as they have chosen to work with a version which does not seem to have be an official standard).
Resolution – decline - this is not current practice in 802.11 amendments.

Comment #1049 – Clause various – Bray

Problem – What exactly is the difference between RSSI (Received Signal Strength Indicator) and RCPI (Received Channel Power Indicator)? As far as I can tell, they are both power level measurements during received packets. The only difference seems to be that RCPI is reported on falling signals and RSSI on rising signals. If they are measuring the same quantity but rising and falling then the names seem chosen very poorly and they only cause confusion.
Remedy - If the two measurements are the same, but on rising & falling then it would make more sense to name them something like maxRSSI & minRSSI or something similar to express that they are different thresholds of the same quantity.
Resolution – decline – RSSI is legacy measurement that is not defined and RCPI is a new quantifiable power measurement.

Comment #1052 – 17.3.10.6 - Bray
Problem - sections 15.4.8.5 and 17.3.10.6 appear to be identical. It would make more sense to combine the text from these two sections. Wherever duplicate text is inserted it creates possibilities of inconsistency, and generally makes specification maintenance harder.
Remedy - The simplest solution would be to replace 17.3.10.6 with a note saying "OFDM measurement rules are identical to the rules specified in 15.4.8.5
Resolution – decline – duplication of certain sections within certain PHYs is consistent within the standard.

5. Conference call ends 10:30 AM.

Wednesday, December 8, 2004 – 8:30 AM Pacific
1. Chair calls the conference call to order at 8:30 AM

2. Attendance Paine, Klein, Gray, Black

3. Technical Comment Resolution  11-0964r26

4. Comment Resolution

Comment #124 – Clause 11.7.8.1 - Lefkowitz
Problem - The way I am reading this clause it appears that you can not send a beacon measurement request if the channel is the same as the serving channel.

Remedy – If this is the case change it such that you can measure beacons on the serving channel.  Be explicit about what to do if the request is on the serving channel, or do not be explicit about what to do if it is not on the serving channel.
Resolution – accept – already accept in SA meeting 1511r0

Comment #127 – Clause 11.7.8.1 – Van Zelst

Problem – In line 9, it seems that "probe request" should be actually be "probe response"  

Remedy – Change probe request in probe response

Resolution – accept – already accept in SA meeting 1511r0

Comment #130 – Clause 11.7.8.1 – Black

Problem - P50, l8 - An informative note should be added here concerning the issue of supplying stale information in table mode (and/or use of table mode information).
Remedy - Add informative note.
Resolution – decline – statement is clear

Comment #131 – Clause 11.7.8.1 – Balachander
Problem - Line 9 - Reference to probe request is not correct
Remedy - Replace probe request with probe response

Resolution – accept – same as comment #127

Comment #132 – Clause 11.7.8.1 – Johnson

Problem - This clause appear out of sync with clause 7.3.2.21.6. Clause 7.3.2.21.6 states "A Response to a Beacon Request is one or more Beacon Reports" whereas this clause states "may respond with a Radio Measurement Report frame". Also this clause states "When more than one Beacon, or Probe Response from a BSS is received in the measurement duration, the contents of the Beacon Report shall be based on the latest received." and Clause 7.3.2.21.6 talks about averaging the most recent 19 values.  Need to clarify whether this measurement request is for a periodic or single measurement in the text to make tings clearer.
Remedy - Clarify or explain

Resolution – partially accepted – see comment #470 contain in approved document 1390r1.

Comment #133 – Clause 11.7.8.1 – Emeott

Problem - Step e) of the Active measurement mode procedure is unnecessary.  There is no reason why a measuring station should return to the serving channel if the measurement channel is not the serving channel.
Remedy - Delete step e)

Resolution – accepted in 1511r0

Comment #135 – Clause 11.7.8.1 – Balachander
Problem - Line 9 - Reference to probe request is not correct
Remedy - Replace probe request with probe response

Resolution – accept – see comment #127

Comment #140 – Clause 11.7.8.1 - Kwak
Problem - P50L9: Need clarification.
Remedy - Change to : "…any channel with the requested BSSID without…
Resolution – accept – instruct editor to make change as described above.

Comment #141 – Clause 11.7.8.1 – Durand

Problem - this paragraph is unclear relative to operation on the serving channel
Remedy - Please clarify operation on the serving channel

Resolution – accept – see document 1511r0 – see comment #124

Comment #432 – Clause 7.3.2.21.6 – Oakes

Problem - Table k4: Way too many combinations.  If we know how these are going to be used, surely we know which one to choose, don’t have them all!  If we don't know which one  will be used, then this is not the solution!

Remedy - Reduce the table to one row!

Resolution – decline – we need all combinations

Comment #433 – Clause 7.3.2.21.6 – Oakes

Problem - Figures k4 & k5, table k3, Simplify - only have one time unit: TU
Remedy - Remove Table k3, modify Figures k4/k5 to show periods in Tus, extend number of bits as necessary to reach the desired range.

Resolution – partially accept – see document 1390R1

Comment #434 – Clause 7.3.2.21.6 - Oakes

Problem – Page 14, line 18: "are averaged over at least 20 measurements to reduce the sampling error to several dB." is meaningless.

Remedy – change to something like "should be averaged over at least 20 measurements to reduce the sampling error to less than 10 dB"

Resolution – partially accepted - "should be averaged over at least a sufficient number of measurements to reduce the sampling error to less than 10 dB"

Comment #436 – Clause 7.3.2.21.6 – Edney

Problem - Paragraph under Fig k5. What does "iteratively" mean. It implies an algorithm for choosing sequential channels but that algorithm doesn't seem to be defined.
Remedy - It is sufficient to say "the receiving STA shall conduct measurements for all channels." Otherwise you need to define the "iterative" algorithm.

Resolution – accept – see document 1511r0 - see comment #996

Comment #443 – Clause 7.3.2.21.6 – Black

Problem - The Measurement Interval text is poorly worded, e.g. shall be implemented. It is not clear where the interval starts (at the scheduled start time of the first periodic measurement). The text does not describe what happens at the end of the measurement interval nor that measurement interval applies to iterative measurements too (I assume this is so from p14 l13).
Remedy - Change p13 l21 to the end of the sentence in l23 to 'The Measurement Interval field contains the requested time interval over which periodic or iterative measurements are to be performed. The Measurement Interval starts at the scheduled start time of the first periodic or iterative measurement. Measurements are then made during the Measurement Interval. If a measurement is in progress at the end of the Measurement Interval then that measurement shall be completed.'
Resolution – partially accept – change to last sentence also address 1390r1
Comment #445 – Clause 7.3.2.21.6 – Black

Problem - Why is 20 measurements the magic value for obtaining a threshold level - particularly if the accuracy desired is so loosely specified as 'to a few dB'. Specify the target threshold accuracy and not a number of measurements (remembering that this is a target only as there is no guarantee of the required number of measurements).
Remedy - Specify a target threshold accuracy and not a fixed number of measurements.

Resolution – accept – see comment #434.

Comment #446 – Clause 7.3.2.21.6 - Black
Problem - There is no text specifying how Threshold/Offset and Hysteresis should be set for Reporting Condition 0 (no condition). Suggest adding text to say that these shall be set to 0 in this case.
Remedy - Add text fixing these fields as 0 if unused.
New Remedy – P16L4 add to end of paragraph “If the reporting condition is 0, Threshold/Offset should is unused and shall be set to 0.” P16L6 add “If reporting condition is 0 or for single measurements, hystersis is unused and shall be set to 0.”

Resolution – accept – instruct editor to make as described in New Remedy above.

Comment #449 – Clause 7.3.2.21.6 – Winget

Problem – Table k2 includes Beacon Table Mode which is described in clause 11.7.8.1 as "the measuring STA  shall return a Beacon Report containing the current contents of any stored beacon information for any channel….".  How does  a STA know whether it should save beacon information?  and for how long?  Conversely, how does the requesting STA know that a measuring STA can store these contents?  It seems that without this knowledge, the STAs could be gratuitously making these requests with no gain.....or get deluged with a lot of potentially old and stale information?
Remedy – Please clarify the usefulness of this request/function.

Resolution – defer – not enough people on the call

Comment #460 – Clause 7.3.2.21.6 - Emeott
Problem - The paragraph defining reporting conditions states "If 19 recent measurements are not available, the STA shall average the current measurement with any available recent measurements."  What definition should one use for recent measurements, ones taken within the same day?
Remedy – Specify how the averaging is to be performed and exactly what measurements are to be included in the average.

Resolution – partially accept – see comment #434

Comment #462 – Clause 7.3.2.21.6 - Emeott
Problem - Does the 802.11 standard provide means for an access point to initiate a handover on behalf of a station providing measurement reports?  If not, then the reporting conditions in Table K4 should be left undefined until such a capability is available to permit a complete and thorough evaluation of the entire handover procedures.  
Remedy - Delete all entries in table K4 except condition 0, a report to be issued after each measurement.
Resolution – decline – sees Comment #432

Comment #463 – Clause 7.3.2.21.6 - Emeott
Problem - If a station reassociates, what happens to prior measurement requests, including the beacon request?  Are they cancelled, or should the station autonomously continue to provide reports to its new access point?  
Remedy - Specify measurement collection and reporting behavior expected of the station following a reassociation, including how threshold averages and the like are reinitialized.
Resolution – decline – clear in current draft 11.7.5 provides specific process for reassociation.

Comment #465 – Clause 7.3.2.21.6 - Simpson
Problem - The paragraph describing the Interval subfield contains the following sentence: "If the Measurement Period is set to 0 or 16383 (3FF Hex), the Measurement Interval shall be set to 0." In this sentence the hexadecimal for 16383 is not 3FF but 3FFF.

Remedy – Replace "3FF" in the sentence with "3FFF"

Resolution – accept – see document 1390r1

Comment #564 – Clause 7.3.2.22.6 - Lefkowitz
Problem - "All information elements that are present in the reported frame shall be included. " conflicts with the concept of IE's a STA can not parse are ignored.
Remedy – change sentence to "All information elements, including unknown information elements, that are present in the reported frame shall be reported."
Resolution – decline – group fields existing text is clear
Comment #565 – Clause 7.3.2.22.6 – Oakes

Problem - It would make life more simple if the contents of the beacon were reproduced verbatim.
Remedy - In Figure K12, replace Target TSF and following octets by a single variable field "fixed and optional information element from the beacon frame body from timestamp onwards" (see table 5).

Resolution – decline – sees comment #1007

Comment #567 – Clause 7.3.2.22.6 - Johnson
Problem - P24, L3-4 This indicates a report on a single beacon or probe response frame but t can be an averaged value also
Remedy - Fix.
Resolution – decline – beacon report relates to a single frame see 11.7.8.1 Paragraph 2
Comment #569 – Clause 7.3.2.22.6 - Johnson
Problem - P24, L15 Since the beacon report can be averaged shouldn't this be the last reported/measured frame.
Remedy –

Resolution – decline – see comment #567

Comment #570 – Clause 7.3.2.22.6 - Emeott
Problem - The beacon report provides a RCPI subfield, but no corresponding RSSI subfield.  The measurement request specifies reporting conditions which require stations to track RSSI measurements and measurement results to trigger a message report.  A corresponding ability to report the outcome of RSSI measurements should be provided in the beacon report.
Remedy - Include a means in the beacon report to provide RSSI measurement reports and corresponding means in beacon request to specify whether RSCI or RSSI measurement reports are desired
Resolution – defer

Comment #571 – Clause 7.3.2.22.6 - Chaplin
Problem - How could a parser know what the length of the variable part of this field is?  It is unclear to me how to know how long the variable part of this field is.
Remedy - Add a length octet to the field
Resolution – decline – the measurement report element already contains length field see figure 13 in draft or 46l in next TGk draft.

Comment #572 – 7.3.2.22.6 - Kwak
Problem - P24L1:  Which PHY Type is not clear from definition.
Remedy - Change to: "PHY Type indicates the physical medium type of the Beacon or Probe Response being reported."
Resolution – accept – instruct editor to make change as described above

Comment #1000 – 7.3.2.21.7 - Myles
Problem - The text in 7.3.2.21.6 describes a vast number of reporting conditions for a Beacon Report; however, no analogous reporting conditions exist for a Frame Report
Remedy - Explain why this difference exists
Resolution – decline – it is unclear if the commenter requires a change to the draft.

Comment #875 – Clause Annex D – Malinen
Problem - Variable length octet stream sounds somewhat complex presentation for Association ID. Couldn't this be just plain INTEGER with range 0..2007?
Remedy - Change dot11AssociateID (page 67, line 47) and dot11ReassociateID (page 68, line 21) to use SYNTAX INTEGER(0..2007).

Resolution – accept – instruct editor to make change as described above. 


Comment #884 – Clause Annex D – Malinen

Problem - Unclear use of STA in dot11peerMulticastTransmittedFrameCount.
Remedy - Replace "as a STA in an ESS" with "as a non-AP STA in an ESS" (page 101, line 13) since AP is also a STA.

Resolution – accept – instruct editor to make change as described above. 


Comment #885 – Clause Annex D – O’Hara

Problem - The MIB is not the placed to store the information from the measurements specified in this draft.  The MIB should be used only where the mechanism to access this information is to be SNMP.  Since this draft specifies that all the measurement information is transferred in the Measurement Reports, the portions of the MIB that duplicate the information conveyed in these reports is redundant.
Remedy - Delete all information in the MIB that duplicates information conveyed in Measurement Reports.

Resolution – defer to larger group

Comment #887 – Clause Annex D – Kwak

Problem - Our MIB text descriptions are woefully out of date.  Once the draft text stabilizes for good, someone needs to carefully review each new text description in the MIB and align it with descriptions in the latest text.
Remedy - Place holder comment.  Should be addressed at very end of LB process and before SB begins.

Resolution – accept – instruct editor to make as described above.

Comment #892 – Clause Annex D – Olson

Problem - If there is any object of SYNTAX RowStatus within a table,  ALL objects of the table other than the indices must be of MAX-ACCESS  read-create. No read-only or read-write is allowed. Example: dot11APChannelReportTable --dot11RRMNeighborReportReachability If there is no object of SYNTAX RowStatus in a table, no object of the table can be of read-create.
Remedy - Update applicable attributes.

Resolution – accept – instruct editor to make change as described above.

Comment #894 – Clause Annex D – Olson

Problem - Object name does not match object SYNTAX type. For example dot11HiddenNodeRprtActualStarttime and dot11MedSenseTimehistogramReportActualStartTime of SYNTAX TSFType. These objects are not a time. It said in the description that it is the TSF value at start time.
Remedy - Update applicable attributes.

Resolution – accept – instruct editor to make change as described above.

Comment #896 – Clause Annex D – Olson

Problem - An object can take on many values. It is wrong to call an object "This value" in any description. For example:  dot11RRMRqstDuration, and dot11RRMRqstRndInterval.
Remedy - Update applicable attributes.

Resolution – accept – instruct editor to make changes as described above.

Comment #897 – Clause Annex D, page 66 – Olson

Problem - TEXTUAL-CONVENTION needs to be defined and used when the same set of enumerated values are used in more than 1 object definitions.  For example, dot11RRMRqstChanBand,  dot11ChannelLoadRprtchanBand, dot11BeaconfRprtchanBand, and more other objects, all use 0 for 2.4 GHz and 1 for 5 GHz. They are can be defined using the same textual-convention.  It is nice and easy way of writing a MIB.  Other suggested textual-conventions include enumerated values defined at objects:    dot11RRMRqstMeasPeriodUnit, and association ID string dot11AssociateID and dot11ReassociateID
Remedy - Update to include the suggested enumerations.

Resolution – accept – instruct editor to make changes as described above.

Comment #899 – Clause Annex D, page 68 line 62 – Olson

Problem - Object dot11RadioMeasurementCapable description;  "The capability is disabled otherwise." Usually we do not disable capability
Remedy - Change to "Otherwise, it is not capable of performing radio measurement"
Resolution – accept – instruct editor to make change as described above.

Comment #916 – Clause Annex D – Cole

Problem - In dot11StationConfigEntry, no changes are shown.
Remedy - I think the last elements should be underlined. Please find the changes and underline them.

Resolution – accept – instruct editor to make change as described above.

5. Conference call ends 10:30 AM.

Wednesday, December 15, 2004 – 8:30 AM Pacific
1. Chair calls the conference call to order at 8:30 AM

2. Attendance Paine, Klein, Gray, Kwak

3. Technical Comment Resolution  11-0964r26

4. Discussion on which comments to resolve with limited number of participants...

5. Changed category of Comment #185 to RCPI

6. Changed category of Comment #379 to STA

7. Changed category to Comment #985 to Request/Report Category

8. Comments which are not resolved by Simon’s TPC paper 93, 102, 740, 929, 941, 951 (duplicate of 929), 968 (duplicate of 929), 969

9. Comment Resolution

Comment #93 – Clause 11.7.6 – Black

Problem - 11h and 11k share a measurement protocol, but do they share measurement precedence rules as in 11.7.6? If an 11h measurement request arrives when an 11k measurement is in process is this a separate request to be scheduled, or does it cancel the 11k measurement (as if the 11h measurement was an 11k measurement)? It seems 11h should have precedence as spectrum management for regualtory purposes ought to be higher priority than management. Given this it seems that 11h measurements should have a higher priority.
Remedy - Clarify interaction between 11h and 11k measurements.
Comment – 11h packets should have presidency over 11k packets.

Comment – What happens when an 11h measurement is in process what happens to it when you receive and 11k request?

Resolution – deferred

Comment #102 – Clause 11.7.6 – Van Waes

Problem - 11h and 11k share a measurement protocol, but do they share measurement precedence rules as in 11.7.6? If an 11h measurement request arrives when an 11k measurement is in process is this a sepearate request to be scheduled, or does it cancel the 11k measurement (as if the 11h measurement was an 11k measurement)? It seems 11h should have precedence as spectrum management for regualtory purposes ought to be higher priority than management. Given this it seems that 11h measurements should have a higher priority.
Remedy - Clarify interaction between 11h and 11k measurements.

Resolution – deferred - same as Comment #93

Comment #276 – Clause 5.4.4.1 - Kowlaski
Comment – Simon is drafting something 04/1120r1 

Problem - Why would TPC be required at all in the 2.4GHz band?  There seems to be no good engineering reason to include them.  Furthermore, the lingua franca of a digital radio is not path loss per se, nor link margin, but rather bit or frame error rate (e.g., suppose the channel is non-white or non-gaussian, as will be typical in the 2.4GHz band).  It is not clear how these measurements would be used by the network to do anything meaningful, and therefore there appears to be no reason to support them.

Remedy - Remove TPC from 2.4GHz band.

Resolution – deferred 

Comment #740 – Clause 7.3.2.26 – Soomro

Problem - In 5 GHz regulatory domains, transmit power limits and presence of radars is needed before transmitting on an channel. Without this information, a STA is effectively restricted to passive scanning which introduces delays while raoming. This could potentially have affect on QoS for time sensitive application.
Remedy - Refer to submissions 04-1007, 04-1011 and 04-1012 for details on recommended changes
Resolution – decline - The neighbour report is advisory to STA and does not allow it to violate the regulatory domain

Comment #929 – Clause General – Balachander
Problem - What is the need for autonomous reporting in 802.11k ? I understand it was useful in the context of 802.11h to inform other STAs regarding the presence of a RADAR but for 11k, measurement reports should be generated only in response to specific requests so what is the point in generating and sending the reports if the receiver has no use for it ? As an exception, it may be OK to allow autonomous neighbor report to be broadcast by an AP to all STAs in the BSS since this is useful information which could be used by the STAs for scanning and roaming optimizations.
Remedy - Remove Autonomous reporting from 802.11k completely.

Resolution – decline – the standard permits the STA to report its environment using autonomous reporting.  They can be turned off as well.

Comment #951 – Clause General – Balachander
Problem - What is the need for autonomous reporting in 802.11k ? I understand it was useful in the context of 802.11h to inform other STAs regarding the presence of a RADAR but for 11k, measurement reports should be generated only in response to specific requests so what is the point in generating and sending the reports if the receiver has no use for it ? As an exception, it may be OK to allow autonomous neighbor report to be broadcast by an AP to all STAs in the BSS since this is useful information which could be used by the STAs for scanning and roaming optimizations.
Remedy - Remove Autonomous reporting from 802.11k completely.

Resolution – decline – see comment #929

Comment #968  - Clause General – Temme
Problem - What is the need for autonomous reporting in 802.11k ? I understand it was useful in the context of 802.11h to inform other STAs regarding the presence of a RADAR but for 11k, measurement reports should be generated only in response to specific requests so what is the point in generating and sending the reports if the receiver has no use for it ? As an exception, it may be OK to allow autonomous neighbor report to be broadcast by an AP to all STAs in the BSS since this is useful information which could be used by the STAs for scanning and roaming optimizations.
Remedy - Remove Autonomous reporting from 802.11k completely.

Resolution – decline – see comment #929

Comment #941 – Clause General – Emeott

Problem - Radar avoidance regulations prohibit stations for initiating active scan procedures on certain channels if the presence of radar is detected.  However, there is no reason why these channels should not be put to use within an ESS when there is no radar present if procedures are put in place to prevent stations from active scanning when the channels subject to radar avoidance are not properly monitored or after a radar signal has been detected.  The current draft includes no means for preventing stations from active scanning on non-serving channels.  The neighbor report and AP channel report are inadequate because they only identify channels that may have potential neighbors, but do not include instructions on what channels to avoid in cases where the station takes the initiative to discover a neighbor AP.  

Remedy - Add a new information element to be called the do not probe element.  The format of this element may be based upon an AP channel report element, except that a station would use the contents of this information element to determine what channels should be avoided within the channel band because the presence of radar has been detected on the channel or because the wireless distribution system has not been monitoring the channel for the presence of radar as required by local regulations.

Resolution – decline - The neighbour report is advisory to STA and does not allow it to violate the regulatory domain

Comment #969 – Clause 11.7.6 – Temme

Problem - If autonomous reporting is retained even though it has limited utility then it should be disabled by default.  
Remedy - Disable autonomous reporting by default (page 48, line 23).

Comment – duplicate comments are 106, 69, and 114

Resolution – deferred 

Comment #55 – Clause 11.7.2 - Johnson
Problem - p46 l10-13. Rather than have a rule which says that a STA has to return to the serving channel between each measurement, it would offer more flexibility to allow the STA to determine the maximum permissible time spent away from the serving channel and the minimum time between any periods off-channel making measurements. As currently in the draft these could be fixed length, or determined using application-specific, or other knowledge. This more flexible approach would clarify cases such as that where measurements overlap due to the use of the parallel bit. It would also allow STAs to do sequential measurements either on a number of channels, or on the same non-serving channels. Since the STA still has control of the off channel time and on-channel time between, there is no loss of priority to real data.
Comment – L11 has ambiguity 

Remedy - Consider revised behaviour.
New Remedy - P46L11 – change “between” to “between individual or groups of”

Resolution – accept – instruct editor to make change as described in New Remedy above.

Comment #57 – Clause 11.7.2 - Johnson

Problem - P46, L10-14 - The STA should not be required to return to the serving channel when making non-serving channel measurements. For instance maybe the STA wants to perform a series of active probes to discover neighbors before returning to the serving channel. Can the fixed length be zero?
Remedy – Delete this paragraph or rephrase to allow not returning to serving channel during off channel measurements.

Resolution – accept – see comment #55
Comment #58 – Clause 11.7.2 – Van Waes

Problem - p46 l10-13. Rather than have a rule which says that a STA has to return to the serving channel between each measurement, it would offer more flexibility to allow the STA to determine the maximum permissible time spent away from the serving channel and the minimum time between any periods off-channel making measurements. As currently in the draft these could be fixed length, or determined using application-specific, or other knowledge. This more flexible approach would clarify cases such as that where measurements overlap due to the use of the parallel bit. It would also allow STAs to do sequential measurements either on a number of channels, or on the same non-serving channels. Since the STA still has control of the off channel time and on-channel time between, there is no loss of priority to real data.
Remedy - Consider revised behaviour.
Resolution – accept - see comment #55

Comment #59 – Clause 11.7.2 - Emeott

Problem - The second paragraph states "A STA shall determine the time between successive non-serving channel measurements by applying a rule that requires it to return to the serving channel for a particular length of time between non-serving channel measurements" without adequately defining the "rule" nor indicating a value for "a particular length of time".  
Remedy - Either remove the paragraph or define a specific rule to indicate what event causes the STA to revisit its serving channel and how frequently these events occur
Resolution – deferred

Comment #60 – Clause 11.7.2 – Lefkowitz

Problem - The first paragraph is implyng an alogoritm.  How a STA handles off channel requests is outside the scope of the specificiation.
Remedy - Remove clause, or state that a STA is responisble for receiving its data (obviously) and have an informative note about the risks slowing up the network, and getting disassociated (obvious and pedantic)  Make second paragraph informative.
Resolution - deferred

Comment #68 – Clause – 11.7.4 - Kwak

Problem - P46L32: "at the discretion of" is not correct and does not capture intent in prior paragraphs describing the duration as either mandatory or as a target duration.
Remedy - If the measurement is not mandatory, it is still a target (goal) for the STA to perform the measurement for the whole period.  But if the station is able to begin, but unable to continue measurment for the full duration period, the results are still good and need to be reported.  The only difference I see in whether duration is mandatory or not is what happens when a measurement is aborted before it can end normally.  If the duration is mandatory, the results are deleted, if not the partial results and reported.  A "target" duration does not permit a STA to arbitrarily "at its own discretion" pick some other duration for the requested measurement.  It may however pick the longest measurement duration that the station is able to provide and perform the shorter than requested measurement and report the results.  The current wording misses most of these points and needs to be revised. 
New Remedy – replace L32 to the end of sentence with “Request, the STA shall attempt a measurement using the requested duration as a target measurement duration, and may report with an actual measurement duration less than the requested duration.”

Resolution - accept – instruct editor to incorporate change as described in New Remedy above.

Comment #72 – Clause 11.7.5 – Lefkowitz

Problem - Why a receiver of a measurement request decides not to fulfil the measurement is outside the scope of the specification
Remedy - remove first sentence.
Comment – Move to Request/Report Category

Resolution – deferred - 

Comment #73 – Clause 11.7.5 - Lefkowtiz

Problem - Reasons why a STA may not fulfil a measurement request is outside the scope of the specification.
Remedy - Remove everything in the clause after the second sentence up to the 3'rd paragraph
Resolution – decline – the comment is valid and informative

Comment #75 – Clause 11.7.5 – Edney

Problem - If a station is unable to perform a measurement within a sequence of requests should it complete the others or should it stop at the point of failure? I couldn't find text that defined this behaviour
Remedy - See comment
Resolution – decline

Comment #76 – Clause 11.7.5 - Black

Problem - This text states that pending unprocessed radio measurement requests are deleted on association, or reassociation. Should this not be disassociation, or re-association? If a STA is disassociated it cannot return the measurement result to the AP.
Remedy - Consider a change to disassociation from reassociation.
Resolution – partially accept – leave the text and clarify by inserting new condition before P47L7 “upon receipt of a disassociation message”.

Comment #78 – 11.7.5 - Black

Problem - Rules for cancelling radio measurement requests also need to apply if a STA leaves an IBSS.
Remedy – Clarify.

Resolution – accept – see comment #76

Comment #79 – Clause 11.7.5 - Tsoulogiannis

Problem – The term "responsible" is not valid here, should have a "shall".

Remedy – Reword first sentence as follows:"A Radio Measurement-capable STA shall decode and interpret each Measurement Request frame and shall assess the request's impact on its own performance…..
New Remedy - “A Radio Measurement-enable STA shall decode and interpret each Measurement Request frame and shall assess the request's impact on its own performance”
Resolution – accept – New Remedy

Comment #82 – Clause 11.7.6 - Lefkowitz

Problem - line 28 since powersave is broken in IBSS mode the specification needs to either address the issues with powersave in IBSS or take out any notion that powersave is an answer in the IBSS case
Remedy - Remove any notion that powersave is an option for suspending traffic.  Remove any suggestion about how to suspend traffic since there is already is precedence for going off channel (scanning while associated)
New Remedy – delete P47L30 “by using powersave notification or other techniques”.

Resolution – accept 

10. Conference call ends 9:30 AM.
Wednesday, December 22, 2004 – 8:30 AM Pacific (Richard took minutes)
1. Chair calls the conference call to order at 8:30 AM

2. Attendance 3 total
3. Editorial Comment Resolution  11-0964r20

· Comment 83: Declined - We believe the requested clarification is presented in the prior paragraph immediately preceding the paragraph quoted.  
· Comment 84: Accepted - the resolutions to comment 5 and comment 8 have effectively changed the "may" to a "shall"
· Comment 94:  Accepted - see comments 5 and 8
· Comment 96:  Accepted - if a station receives a measurement request frame with lower precedence than the currently active  measurement request frame, the station shall discard the new measurement request frame.
· Comment 98:  Accepted - see comment 99
· Comment 101:  Accepted - Change P47L24 from "same precedence" to "same or lower precedence".   Change P47L24 from "started" to "completed".
· Comment 103:  Accepted - same  comments 5 and 8
· Comment 107:  Accepted - same as 96
· Comment 108:  Accepted
· Comment 109:  Accepted
· Comment 111:  Deferred
· Comment 112:  Deferred - same as 111
· Comment 113:  Deferred - need vote by the group in Monterey
· Comment 114:  Declined - author is invited to supply text.  Comment subject is addressed in P48L35.
· Comment 116:  Accepted - change "periodic measurement per BSSID" to "periodic beacon request measurement per requested BSSID"
· Comment 129:  Accepted
· Comment 134:  Declined - this is a duplicate of the active scan procedure.
· Comment 136:  Declined - the given procedure is performed on the channel being measured
· Comment 306:  Deferred to Simon Black - reason codes should be expanded
· Comment 379:  Declined - it is not 11k text, but  11h text (published standard)
· Comment 421:  Deferred - papers to be presented in Monterey
· Comment 437:  Accepted - change in all places in table k4; "measured STA" to "measured beacon or probe response frame"
· Comment 537:  Accepted
· Comment 585:  Accepted - clarify  P25L4 change "received from the transmit address" to "received with the indicated transmit address and BSSID"
· Comment 591:  Accepted - same as 585
· Comment 649:  Declined - TGk has considered constraint and decided not to constrain it.
· Comment 716:  Move this comment  to Neighbor Report
· 10:34 adjourn:  Any objection – None.  

Wednesday, January 5, 2005 – 8:30 AM Pacific
1. Chair calls the conference call to order at 8:30 AM

2. Attendance Paine, Gray, Kwak, Klein

3. Address miscellaneous comments  11-0964r30

Comment #70 – Clause 11.7.4 - Olson
Problem - Claiming that "All measurements shall be performed over a continuous time period" is misleading.  This could mean all the measurements in a single measurement request frame.
Remedy - Suggested change "Each individual measurement shall be performed over a continuous time period".

New Remedy – “Each individual measurement within the measurement request frame shall be performed over a continuous time period”

Resolution – accepted – instruct editor to make change as described in new remedy above.

Comment #71 – Clause 11.7.5 - Lefkowitz

Problem - Why a receiver of a measurment request decides not to fulfil the measurement is outside the scope of the specification
Remedy - remove first sentence.
Comment – you can’t just remove first sentence.  Does this mean if you are going to throw the request away, do you have to decode it.

Comment – The second sentence would need to be amended and it is informational only.

Resolution – defer – reassign to request/report group
Comment #74 – Clause 11.7.5 – Faccin

Problem - This text states that pending unprocessed radio measurement requests are deleted on association, or reassociation. Should this not be disassociation, or re-association? If a STA is disassociated it cannot return the measurement result to the AP.
Remedy - Pending unprocessed radio measurement requests should be deleted on disassociation, or re-association.

Resolution – partially accept – see comment #76

Comment #77 – Clause 11.7.5 – Black

Problem - Do local radio measurements (as opposed to those requested by a peer) need to be cancelled on disassociation, or reassociation?
Remedy - Clarify.

Resolution – partially accept – see comment #76

Comment #85 – Clause 11.7.6 - Lefkowitz

Problem - Last paragraph should not be normative as it is implying an algorithm, purpose, or a supposed effect.
Remedy - Either remove paragraph (preferred) or make it informative.
Comment – There are no “shalls”, so it is not normative.  

Comment – There is no reason why we can’t put informative text in a normative clause

Resolution – decline – the text is informative as does not require clarification

Comment #87 – Clause 11.7.6 – Thrasher 

Problem - line 2,3 of page 48…"shall be returned without undue delay" and the definition of undue delay is…….
Remedy - should read "should be returned without undue delay"
Comment – we addressed 11/24 conference call.

Resolution – accept – instruct editor to make change as described above.
Comment #115 – Clause 11.7.7 - Black

Problem - Figure k27 is good, but would be better if: (a) measurement duration was shown (see other comment from same author about what happens if measurement is in progress at next scheduled start time). (b) The measurement interval was not a precise multiple of the period - there is no such restriction (see also other comment from same author on end of interval issues).
Remedy - Update diagram to show duration. If not changing the relationship between interval and period, add a note saying that this is for the example only.
Resolution – accept – addressed in document 11-04-1390r1

Comment #123 – Clause 11.7.8 - Kandala

Problem - Can a QSTA be compliant with 11k if it never accepts any request (and can only read and reply to requests, denying those requests?)
Remedy - Clarify here or in draft.
Comment – A compliant station can ignore every request.

Resolution – defer – recategorize to request/report task group

Comment #172 – 12.3.5.11.2 - Cole
Problem - The change of adding RXVECTOR to the PHY-RXEND primitive is not backward compatible with pre-existing devices.
Remedy - Please modify this so that this parameter is only present for purposes needed by 802.11k amendment and won't have effect on pre-existing devices.
Resolution – defer – assign RCPI group (Joe Kwak)

Comment #173 – Clause 12.3.5.11.2 - Wright

Problem - Why is this addition necessary for TGk? "...or upon receipt of the last PSDU data bit in the received frame."
Remedy - Please explain
Resolution – accept – with the following explanation “RXVECTOR is added to PHY_RXEND.Ind primative in order to provide an RCPI measurement for the entire PSDU.”

Comment #174 – Clause 15.2.7 – Cole

Problem - The change of adding RXVECTOR to the PHY-RXEND primitive is not backward compatible with pre-existing devices.
Remedy - Please modify this so that this parameter is only present for purposes needed by 802.11k amendment and won't have effect on pre-existing devices.

Resolution – defer – see comment #172

Comment #176 – Clause 15.4.4.2 - Oakes

Problem - I would suggest this abstract interface should not define encoding, but should define the type of information passed.  Even if you disagree, the units should be defined.
Remedy - Change "value" to from "0-255" to "-XXdBm to +XXdBm" without specifying the values used to encode X dBm.
Comment – RCPI has quantifiable value unlike RSSI.

New Remedy – Change Table 66 “0-255” to “8 bits of RCPI”.

Resolution – accept – instruct editor to 

Comment #177 – Clause 15.4.4.2 – Oakes

Problem - I would suggest this abstract interface should not define encoding, but should define the type of information passed.  Evene if you disagree, the units should be defined.
Remedy - Change "value" to from "b bits of RCPI" to "-XXdBm to +XXdBm" without specifying the values used to encode X dBm.

Resolution – decline – see comment #176

Comment #186 – Clause 15.4.8.5 - Hansen
Problem - Dynamic Range for power measurement is unrealistically large.  The ideal noise floor for a 20 MHz channel is -101 dBm.  Why does a device need to measure 9 dB below this level?  What averaging should be used?
Remedy - Specify a more reasonable dynamic range, such as in the RPI histogram from TGh.
Resolution – defer – reassign to RCPI

Comment #201 – Clause 17.2.3 - Cole

Problem – The change of adding RXVECTOR to the PHY-RXEND primitive is not backward compatible with pre-existing devices.

Remedy – Please modify this so that this parameter is only present for purposes needed by 802.11k amendment and won't have effect on pre-existing devices.

Resolution – defer – see comment #172

Comment #202 – Clause 17.2.3 - Oakes

Problem - I would suggest this abstract interface should not define encoding, but should define the type of information passed.  Evene if you disagree, the units should be defined.
Remedy – Change "value" to from "0-255" to "-XXdBm to +XXdBm" without specifying the values used to encode X dBm.
Resolution – accept – see comment #176

Comment #222 – Clause 18.2.6 - Cole

Problem - The changes to the PLCP procedure are not backward compatible with pre-existing devices.
Remedy - Please modify this so that this added procedure is only present for purposes needed by 802.11k amendment and won't have effect on pre-existing devices.
Resolution – defer – reassign to RCPI task group

Comment #223 – Clause 18.2.6 – Johnson

Problem - P60, L24  - Change "(RX_ANTENNA)" to "RX_STATE"
Remedy - P60, L24  - Change "(RX_ANTENNA)" to "RX_STATE"
Resolution – decline – the wording is consistent throughout the standard and “RX_STATE” is not defined anywhere. 

Comment #267 – Clause 5.2.5 – Durand

Problem - Second sentence- The MIB is not the only source, destination or means
Remedy - Remove the phrase- simply remove "in the mib" from the end of the sentence

Resolution – accept – instruct editor to make change as described above.

Comment #285 – Clause 5.4.5 - Kwak

Problem - P3L10: Provide consistent section titles
Remedy – Section title should be "Radio Measurement Service"
New Remedy – “P3L2” 

Resolution - accept
Comment #289 – Clause 5.5 - Lefkowitz

Problem - Make action for TGk consistent in draft. Most of draft refers to the action as "Radio Measurement". So if this is to be adopted correct a) 2) vii) and c) 2) ii) to reflect this.
Remedy - Change a) 2) vii) to "Radio Measurement Action between stations in an IBSS" or "Radio Measurement Action containing measurement request and report messages sent between stations in an IBSS." Change c) 2) ii) to "Radio Measurement Action"
Comment – accept – see comment #290

Comment #299 – Clause 5.5 - Kwak

Problem - P3L31:  Radio Resource Action not defined
Remedy – Replace with "Radio Measurement Action"

Resolution – accept – see comment #290

Comment #300 – Clause 5.5 – Kwak

Problem - P3L23:  Radio Resource Measurement Action not defined
Remedy - Replace with "Radio Measurement Action"

Resolution – accept – see comment #290

Comment #302 – Clause 5.5 – Olson

Problem - There is no defined action "Radio Resource Measurement".
Remedy - Change to be "Radio Measurement" action.

Resolution – accept – see comment #290

Comment #303 – Clause 5.5 – Olson

Problem - There is no defined action "Radio Resource".
Remedy - Change to be "Radio Measurement" action.

Resolution – accept – see comment #290

Comment #307 – Clause 7 - Lefkowitz

Problem - There is no reason to have a channel band.  dot11PhyType and channel number should be enough in all cases.  It seems excessive to have to keep up yet another item from now on.
Remedy - Use phytype instead of channel band in all messages to be unambiguous in selection of channel.
Comment – Simon Black worked on this and we decided to utilize Channel Bad and not require PHY type in all sections.

Comment – we think this has been resolved.

Resolution – defer – assign to Simon Black

Comment #409 – Clause 7.3.2.21 - Olson
Problem - Since the duration mandatory bit is at the measurment request element level there is no way to have mixed mandatory and non-mandatory measurements together.  In other words if one measurement request type is mandatory then all the measurements indicated in the measurement request field will have to be mandatory.
Remedy - Suggest moving mandatory as part of the duration specification for each measurement.
Comment – The measurement request element is a single request element or per measurement parameter (like parallel).

Comment – there is a problem on P10L7

Resolution – partially accept – new text should be in spreadsheet

Comment #411 – Clause 7.3.2.21, 7.3.2.22 – Black

Problem - Text in the parallel bit definition says: 'A value of 0 shall mean the measurement shall start immediately after the previous measurement completed'. This is not consistent with 11.7.2 which states that a STA may define a period on the serving channel between measurements. Also measurements may have a randomisation interval that delays the start time.
Remedy - Change this sentence to read 'A value of 0 shall mean that the measurement shall start after the previous measurement request completed subject to the rules in 11.7.2 and any specified randomization interval.'
Resolution – accept 

Comment #412 – Clause 7.3.2.21, 7.3.2.22 – Joklea

Problem - Text in the parallel bit definition says: 'A value of 0 shall mean the measurement shall start immediately after the previous measurement completed'. This is not consistent with 11.7.2 which states that a STA may define a period on the serving channel between measurements. Also measurements may have a randomisation interval that delays the start time.
Remedy - Change this sentence to read 'A value of 0 shall mean that the measurement shall start after the previous measurement request completed subject to the rules in 11.7.2 and any specified randomization interval.'
Resolution – accept see comment #411

Comment #413 – Clause 7.3.2.21.* - Wright
Problem - Starting on page 13, line 12, there are large chunks of text which are behavioral in nature.  For example, "If scheduling conflicts prevent the STA from executing a periodic measurement…" - this is behavioral.  Another example: pg 14 line 9 - paragraph is behavioral.  Page 14, line 4, "A Interval subfield value of 0..." etc. is behavioral.
Remedy - Behavioral text belongs in a different clause, probably clause 11.  As I read through the descriptions of the various reports, I see lots of instances of behavioral text in the format description.  This is generally not a good idea because it can make it difficult to determine normative behavior.  With all behavior specified in a single place, one can be assured that (a) it is consistent, and (b) the reader has found all information regarding the behavior.  The style of 802.11 has been to keep all behavior out of clause 7.
Resolution – defer – assign to Editor to discuss with Terry Cole - see comment#1030

Comment #419 – Clause 7.3.2.21.10 – Kwak

Problem - P19L11: Somehow we lost the sentence describing special use of duration for retrieving MIB statistic deltas.  
Remedy - Add new sentence: ".  A non-zero value of Measurement Duration indicates a request for the change in value (increases or decreases) in the statistics of the specified statistics group measured over the specified Measurement Duration."
Resolution – accept 

Comment #456 – Clause 7.3.2.21.6 - Johnson
Problem - The definition of Reporting Condition is ill defined. The reasons for this statement are the following. 1) TGk shouldn't define that this should be 20 measurements since the accuracy of the results will be uniquely different for different PHY layers and operating conditions (e.g moving vs. stationary) 2) Shouldn't one allow flexibility for what is provided back (e.g # to average) and we have had no presentations that support 20 measurements is either not overkill or insufficient.
Remedy – Use half of the bits of the reporting condition to specify the # of samples to average. Thereby 2^4 = 16 maximum to average (Just as unique as 20). Or create a new field which is 8 bits to allow one to average up to 256 values.

Resolution – partially accept – see 11-04-1309r1













































Comment #471 – Clause 7.3.2.21.6 – Reuss

Problem - The Reporting Condition subfield averaging mechanism is a "boxcar average", which may be statistically inappropriate depending on the sampling interval
Remedy - Add a means for choosing either a boxcar weighted average, an exponential decay weighted average, or some other weighting, or else leave the averaging mechanism as an implementation dependent element.
Resolution – accept – changes included 1309r1 imply that this is an implementation element.


4. Conference call ends 10:30 AM.
WednesdayJanuary 12, 2005 – 8:30 AM Pacific
1. Chair calls the conference call to order at 8:50 AM

2. Problems with phone bridge

3. Attendance Paine, Gray, Kwak, Klein, Barber

4. Address misc. comments  11-0964r30

Comment #508 – Clause 7.3.2.22 - Lefkowtiz

Problem – "The Measurement Report field shall be null when the Late bit is set to 1, the Incapable bit is set to 1 or theRefused bit is set to 1."  How can you set a variable length field to NULL?
Remedy – Clarify, Maybe "packet shall not contain the measurement report field"
New Remedy – Change P21L6  “The Measurement Report field shall not be included when …”

Resolution – accept – instruct editor to make change as describe in New Remedy above.

Comment #519 – Clause 7.3.2.22 – Simpson

Problem - The interpretation of the Late bit, Incapable bit, and the Refused bit taken together needs to be clarified. For instance, what does it mean for the Late bit=1, Incapable bit=1, Refused bit=1
Remedy - Create a table that shows the possible configurations of the Late bit, Incapable bit, and Refused bit and what the interpretation would be for each configuration. I would suspect that some configurations are not allowed. For example if Late bit = 1, the Refused bit and the Incapable bit would have no meaning?
Comment – the comment is valid we should be consistent with the table in the request.

Resolution – defer – assigned to Simpson to draft a table
Comment #566 – Clause 7.3.2.22.6 – Edwards

Problem - Inclusion of all of the information elements for the Beacon report seems to be overkill to me
Remedy - Allow the beacon request to specify which information elements should be sent
Resolution – decline – see comment #1007

Comment #644 – Clause 7.3.2.22.9 P27 – Soomro 

Problem - P27 L4-5 - Bin value should be the density (probability), but not the actual count. The initial count needs to be normalized before reporting.
Remedy - See suggested changed in below.
Remedy on #645 - Replace L2-L10 by: "The Medium Sensing Measurement generates a histogram that represents the probability distribution of Medium Sensing Time Intervals. To generate this histogram, the STA monitors the measurement channel for the medium sensing intervals of the requested subtype. Bin i has a value of: 255*Ceiling [number of medium sensing intervals observed for bin i / total number of medium sensing intervals for all bins].The number of medium sensing intervals for bin i is the count of medium sensing intervals observed in the range greater than or equal to i0+(i*D I), and less than i0+((i+1)* D i) for all bins except the last bin. For the last bin, the number of medium sensing intervals is the count of medium sensing intervals observed in the range greater than or equal to i0+(i*D i)."

Resolution – defer – assign to Noise Task Group

Comment #645 – Clause 7.3.2.22.9 P27 – Soomro 

Problem - P27 L4-5 - Bin value should be the density (probability), but not the actual count. The initial count needs to be normalized before reporting. 255 should be used for normalization, but not as a cap for the counter.

Remedy - Replace L2-L10 by: "The Medium Sensing Measurement generates a histogram that represents the probability distribution of Medium Sensing Time Intervals. To generate this histogram, the STA monitors the measurement channel for the medium sensing intervals of the requested subtype. Bin i has a value of: 255*Ceiling [number of medium sensing intervals observed for bin i / total number of medium sensing intervals for all bins].The number of medium sensing intervals for bin i is the count of medium sensing intervals observed in the range greater than or equal to i0+(i*D I), and less than i0+((i+1)* D i) for all bins except the last bin. For the last bin, the number of medium sensing intervals is the count of medium sensing intervals observed in the range greater than or equal to i0+(i*D i)."

Resolution – defer – assign to Noise Task Group

Comment #646 – Clause 7.3.2.22.9 - Olson
Problem - It is my understanding that for an 11g radio the slot time can vary between 9us and 20us depending on whether all 11g STAs in the BSS or a mix of 11g and 11b STAs.  If true how can one understand the bin duration since it is measured in slot times?
Remedy - Please clarify.
Resolution – defer – assign to Noise group

Comment #648 – Clause 7.3.2.25 – VanNee

Problem - It's not clear what the channel list parameter which is part of the 'channel report' element pertains to. Are these channels relevant to the specific AP or is it any AP which is part of the ESS ?
Remedy - Clarify
Resolution – defer – assign to Channel Report

Comment #651 – Clause 7.3.2.25 – Ecclesine

Problem - Channel Band octet and Channel Number are to uniquely identify channel of measurement, but will not with optional channel widths of Clause 17 PHY.
Remedy - Replace Channel Band octet with Regulatory Class octet when 802.11j is approved. Figure out how to list the channels when they can have multiple channel widths (e.g. 802.11n)

Resolution – defer – related to comment #685

Comment #653 – Clause 7.3.2.25 – Balachander
Problem - What does the channel list parameter which is part of the 'channel report' element pertain to (derived from the AP channel report table)? Are these channels relevant to the specific AP or is it any AP which is part of the ESS ? It is important to clarify this so that the information can be used appropriately by the STA which received the channel report.
Remedy – Clarify
Resolution – defer – assign to Channel Report

Comment #654 – Clause 7.3.2.25 – Ware

Problem - The AP Channel Report is not useful in a multivendor wireless system deployment to an end station since its use can be implemented differently among vendors. Since this is a mandatory field in both beacon and probe responses its use should be more clearly defined. For instance the AP channel report could just include the regulatory domain channels, it could advertise which channels the system operator preconfigured, it could advertise the channels regulatory domain channels it knows are free from radar so active scans can be accomplished, it could be advertise which channels are not over loaded, etc.
Remedy - More clearly define what is reported in an AP channel report so a STA can take advantage of this mandatory information element in the beacon or probe response.

Resolution – defer – assign to Channel Report


Comment #655 – Clause 7.3.2.25 – O’Hara

Problem - Channel load report not useful
Remedy – Delete Channel Load Report
Resolution – defer – assign to Channel Report

Comment #656 – Clause 7.3.2.25 – O’Hara

Problem – AP channel report is redundant with the neighbor 
Remedy - Delete the AP channel report
Resolution – defer – assign to Channel Report Task Group
Comment #658 – Clause 7.3.2.25 – Chaplin

Problem - "The Length field is dependent on the number of channels reported in the Channel List."  Which fields does the length measure?  Just the Channel List field?  Or are other fields part of the length?
Remedy - "The Length field is dependent on the number of channels reported in the Channel List.  The Length field is the number of octets after the Length field to the end of the element."

New Remedy – P28L12 add after existing sentence “The minimum value of the length field
 is 1 (based on a minimum length for the Channel List Field of zero octets).

Resolution – accept – instruct editor to make change as described in New Remedy above.

Comment #659 – Clause 7.3.2.25 – Balachander

Problem - What does the channel list parameter which is part of the 'channel report' element pertain to (derived from the AP channel report table)? Are these channels relevant to the specific AP or is it any AP which is part of the ESS ? It is important to clarify this so that the information can be used appropriately by the STA which received the channel report.
Remedy - Clarify
Resolution – defer – assign to Channel Report

Comment #660 – Clause 7.3.2.25 – Olson

Problem - The first sentence should be rephrased to not indicate the eventual usage of the AP Channel List.  Here it should simply be defined as a list of channels.
Remedy - Strike the word "where a STA could potentially find an AP".

Resolution – defer – assign to Channel Report

Comment #661 – Clause 7.3.2.26 – Housley

Problem - Page 29, Lines 29 and 30.  I think that pointing to 802.11F is a mistake.  I recognize that an other alternative is being suggested as well, but advocating the deployment of 802.11F is not desirable.
Remedy - Eliminate reference to 802.11F.

Resolution – decline – This a valid reference in an informative paragraph.

Comment #669 – Clause 7.3.2.26 – Kowalski

Problem - Line 20:The phrase "AP may choose to only believe…" is an anthropomorphism.
Remedy - Rephrase.

New Remedy – Replace “Choose to only believe” with “only utilize”

Resolution – accept – instruct editor to make change specified in New Remedy

Comment #683 – Clause 7.3.2.26 – Edney

Problem - "Bit 3…" Why does this not use the field name
Remedy - Replace with "Key scope"

Resolution – accept – instruct editor to make change as specified above

Comment #989 – Clause 7.3.2.21.4 – Myles

Problem - The text only specifies channel bands for 2.4GHz and 5GHz.  However 802.11j is about to specify a 4GHz band
Remedy - Add a 4GHz band.    This comment applies to other measurement requests as well

Resolution – defer – assign to Channel Report

5. Conference call ends 10:30 AM.
Minutes TGk                                      page 40
Paul Gray, AirWave Wireless, Inc.


